@ 0.01

3 0.01

@ 0.1ii

® 0.001



@ 3.509

3 3.54



@ a®xa’*xa®=ad8

@ x®xytxx0xy? = x8y0



Auk
mlo
1>
ftlo
)
i
ol
o
»,
rlo
~

(3a2 —2a—-4) - (_2a2 +3a-2)

® a®+a-6 @ @@ ta-2 ® 5t at

@ 5a2 -5a—-6 ® 542 -5a-2



5.

x=2,y=-3L ] 2x+5y-(3y-3x) E A

D =8 ® -4 3 1 @ 2



O x+1>-2 @ 3x-2<1 ®2-x>5

@ 2x+1<-5 ® 2x+1<7



7. e SolA REeE 2R

0373737 0 m 24174 1.2345678--- 1000

@ 274 @ 374 ® 47§ @ 574 ® 674



)

=
o7
<+
J)
%

<

@ 271 3 370 @ 570 3 670

@D 174



9.

a = 2X—10E1 th 42x—1%aoﬂ s

et Aoz LhehE?



10. 3(2x+y—2) + (-2x? + 2xy + 4x) +

A9 = Fstd?

@D 5 Q 7 3 9



11. o= F 752

il

ARg5Fo] ERd Ao] 7] 9 A2

@O x=2x+5 B ATh = x>2x+5

@ x 2 -6 o] H2 Froltt. = —6x>0

® x 12 9] k2 -2 0o]5to|t}h. = x+12 < -2

@ x 929 ol 4 8= 0 olAY S0tk = 4(x+2) <0
® xx+3gF29ololtt. = x+(x+3)>9



@ 274

® 371

@ 474

% 7174

® 574



13.

A B4l 5]Fol= 4000 Y, £3]+= 7000 Yol F = o] k. o
g s7lol= e 1000 YA, F3]= 500 Y4 dlZ39thd §]7lo]
o] dlZefjo] B5]9] of| Fof it wholz]= A2 H /Y FHE|QIZE?

® 471 @ 570 ® 671

@ 771¢ G 871



14. 8o Afo|Eo] A 8o e RE 20| it 22w, AAtolE

sH=7h

ALO1E | 7| EQ () | 3 33 o225 2 (YY)

A 15000 =
B 2000 500




bl A

S

7b . a7h 10 ©]

@ 46 3) 48 @ 50 3 55

@D 40



53
90

@






ot
o

18. 10x12x14x16x18x20 = 29 x 3? x 5¢ x 7 & 74143]
a+b+c o F2?

F

o

D 14 ® 15 3 16 @ 17 B 18



19. A7l 200 9 sh= GBI AR 300 Y sh= A¥-E §ohe] 20
AR5 4500 o] FA] b7l AR AL Rk 300 Y] B Hhet
2 AR A =T

® 44% @ 54% ® 643

@ 7245 B 8§A=



20.

A Skl 22+ = g A7l 2km, WHE T+
3km 9] £E 2 AojA HA A= A
st Rttt ¥ km7bA] 23 W QA =717

@ 2km ® 3.6km

@ 5km B 6km



